EEIRXDER
EEHUERNER
[H2F O A~HT2F 1 OBDOTRFERL

BOERBIDMEND, FRTRIFEELEBDICTONBENMENTNET, BEIBMUVEETINT,
EFROBINEE Lo>NDELTNEENENTY, )

9, 1 0 BNTERMPEFMHOILDIC, SHEESOTRMNBOET, FEOBLIL/NNROLETE
BATIDT, S TROBERCNEDS5~1 0NEHEFIETT.

9OR (EEDAIHEEHYET, ) 10A (EEBEDAREEH Y FET, )
N2 EF R B & NRBEF R
1w 1= 15110 2~6% [1605 1|x|1 ~a% [1510 5~6% (1605
2|k |41 ~3% [1510 4~6% (1605 2|lgl1~2% 1510 3~6% (1605
3lx[1~a= [1510 5~6% (1605 3|+
ale |1 ~2= [1510 3~6% [1605 AE
5|+ 58| 14:00 =
6|8 6|w|—= 14:00 =
718 [1~3% [14550 4~6% (1625 7| x|—= 14:50
glw |41 ~3% [14550 4~6% (1625 s|x|[1~3% [1510 4~6% [1605
olk |- 14:50 R olal—== 15110 AUEBAREETY
10|# [1~3% 1450 4~6%E [1625 10|+
11|& [1~3% [1450 4~6%E [1625 11(8
12|+ PTANTERZER (F5-68- BB 128 e =
13|B 13|wl1 = 15110 2~68 (1605
14|8 [1~3% [1450 4~6%E [1625 14| x| 14:50 L
15|w [1~3% 1450 4~6%E [1625 15|41 ~3% [1510 4~6F (1605
16(k |- 14:50 16|&|1~2% [1510 3~65 (1605
17| [1~a% [1450 5~6% (1625 17|+
18|& [1~2%& 1450 3~6%F |1545 18(8
19[+ 19|81 ~3% [1510 4~6F (1605
20|B 20olw|15& [1510 2346% (1605
21(8 HENB 21[x|5% 13:40 SEMS 1450
22[w MBDB 22[x|1~3% [15:10 465 16:05
23|k |1 ~3% [14550 4~6% [1625 23|&|1~2% [1510 3465 [1605
24|k REKZE (2689) 24|+
25| [1~3% [14550 4~6% [1625 25(8
26|t [1~4a% [11:30 5~6% [12:10 26(8|1~3% 1510 4~6% (1605
2718 |-= 12:00 EBs 27|w]|1 = 15110 2~6% (1605
2 REAZE (278%) 28[kx|1~2% 1450 3~6& (1545
20w |12 1510 2~6% [1605 20[x|1~3% [15:10 4~6% (1605
30|k [—= 14:50 30|e|—= 15110 R
i 21|+




